242'-7"

- Total Rail LengthT Test Installation

e — e — - —

Plan View
Rail laps between Posts
" 75" - See 1c C=-
75" Typ i A< ﬂ / Next sheet B -a—
.y ——— ——————— . L N\ TN N
ke S R S S SR S S | 1 L § 1 1 | 1 L § | 1 | 1 | L § 1 | S - ——— - T ——— - ———— - o o - — //7//7/}?<//_///}<
AN N NN AN AN AN ANIANE NN A A A A A A A A A AN
N N N L 2
A < . . -
Elevation View Cw
Timber Blockout, for W-section Post 110" ————— >
4" —p PDB-01b
A
10" Guardrail Bolt \\//
o FBBO3 % //\ \///\ \///\
31" 72" Wide-Flange Guardrail Post //\\//\\//\ 66"
v LKL
' '
18—
Section A-A
Scale 1:50 .
Post and Rail details typical Section C-C
in LoN (Posts 22 - 39) Scale 1: 50
1a. Backfill Post holes with AASHTO M147-65(2004), grade B crushed limestone “‘ Texas AGM Roadside Safety and
road base, compacted to MASH standard. 7 ;"’l;gg_?gl%rtatmn Phys'C§r|o§ifr>]guélsgu%VISIon -
1b. TxDOT Downstream Anchor Terminal. See attached Drawing #GF 9(31) DAT-14. oot #608431 —- 2018.02-02
1c. 75" Post spacing typical for LoN and Terminal unless otherwise indicated. Project 431 Buried in Backslope e
Drawn by GES  Scale 1:400 Sheet 1 of 6 Test Installation

T:\1-ProjectFiles\608431 - Buried in Backslope\Drafting, 608431\608431 Drawing



Section B-B
Scale 1:20

Post Numbers

= Texas A&M Roadside Safety and
4 Transportation Physical Security Division -

Al |nstitute Proving Ground
Project #608431 Buried in Backslope 2018-02-02
Drawn by GES  Scale 1:400 Sheet 2 of 6 Section B-B

T:\1-ProjectFiles\608431 - Buried in Backslope\Drafting, 608431\608431 Drawing



Terminal Details - Elevation Fer e
24 22 20 18 16 14 12 10 8 6 4 2 See b

— e
F'—____"“___"“___”“___”_____”___“”___"”___"”___"'F__"”___"”___"”____-W__"'___‘z ——————————————— L __ -

12 ga. W-beam, 9'-4-1/2" span

D Buried in Backslope Anchor Plate\ Recessed Guardrail Nut Timber Blockout, for W-section Post
f PDB-01b G-
10" Guardrail Bolt -
Bolt, 7/8 x 2" hex : FBBO3 ! -
I~ =
(x 4), See 3a Bolt, 5/8 x 2" hex L Iz
ﬂ),\ (x 4) —
Plate Washer (x 4) N Nut. 7/8 hex 3" j %
13/4" x 1 3/4" x 3/16" o ’ —
with @1" hole { 2" Guardrail Bolt
Detail D FBB02
etal
Scale 1:10 “Jf/
See 3a

: G-
Section G-G
Section E-E < Post 7
Post 1 Typ @ Posts 5-20
Typ @ Posts 1-3 Section F-F Scale 1:30
Scale 1:30 Scale 1: 50 d
] Roadside Safety and
3a. Recessed Guardrail Nuts typical on all 5/8" Bolts. Anchor Plate and hardware are /‘ %ﬁpﬂﬂ%ion Physoice:‘aISISeecurei‘t?%isigiOn -
typical on top rail at Posts 1 - 3, and rub rail at Post 4. Field drill @1" holes in Guardrail as Al |nstitute Proving Ground
needed for 7/8 Bolts at Posts 1 - 4. Hex Head bolts are ASTM A307. Project #608431 Buried in Backslope 2018-02-02
3b. Rail height changes 16" from Post 10 to 1 to achieve 12" of soil coverage at Post 1. Drawn by GES | Scale 1:200 Sheet 3 of 6 Terminal Details - Elevation

T:\1-ProjectFiles\608431 - Buried in Backslope\Drafting, 608431\608431 Drawing



Terminal Details - Plan

Ditch and Backslope edges hidden 4-space W-beam Guardrail 10-11"*
for clarity . RWMO04a . 8'-10-1/4" *
Typical unless otherwise noted
Ditch Bottom
o 7/7,, o s - /13-11-3/4" *
24 22 L : : ’ ¢
& & & K = __ _1 __
\/LK 13:1 8:1 6:1 4:1
Length of Need 121"
- rt 74'-10" <t 24'-9-1/2" —rt——>»— 124"

Rail Joints betwen Posts -
Typical in LoN and Buried in
Backslope Terminal

12 ga. W-beam, 9'-4-1/2" span

1-1/4" Guardrail Bolt
FBBO1
Typ x 8 at each Rail joint

Bolt, 5/8 x 5" hex De|ta1'|. 2K
FBX16a Washer, USS 5/8 Flat Scale 1:20

e 7 Pipe Sleeve Spacer 37-1/2" /\

FMMO04

37-1/2"

Detail J |

Scale 1:5

12 ga. W-beam, 9'-4-1/2" span

4a. * These dimensions indicate the offset
to the back of the Rail at Posts 1, 4, 6, and 10.

Detail H 2 Texas A&M Roadside Safety and
4 Transportation Physical Security Division -
Scale 1: 20 A [nstitute Proving Ground
Project #608431 Buried in Backslope 2018-02-02

Drawn by GES  Scale 1:200 Sheet 4 of 6 Terminal Details - Plan

T:\1-ProjectFiles\608431 - Buried in Backslope\Drafting, 608431\608431 Drawing



—» e 2-1/4"
0" B 3/4" (x 4)
Vo, ®13/16"

p1"
O
| e 21747
127 ¥ oo

—| | l—2-1/4"

W6 x 8.5
720 1
Posts 1 -3

—> r 2-1/4" — a— 2-1/4"
0" 4@7 0" 4@7
|
S ‘@‘ o JL\DY{
(x2)

18-1/4" ¥ —
22-1/4" -
27114 ¥—|o
B B 314" (x 4)

96" 1

Post 4

- ®»13/16"

2-1/4"

22-1/2"

1"

W

W6 x 8.5

- LF 1-1/8"

l—
_—

96" ¥

Posts 5 - 21

\W6 x 8.5

= ©¢13/16" (x 3)

& = =
< 3 q
- = T = T o
- - O~ LI N O
Oll
o O 3"
f o oo+ I
Slot, 1" x 1-3/4" —/ ; O 12"
Typ x 4 14"

B 3/4" (x 4) J

Buried in Backslope Anchor Plate

Plate, 14" x 1/2" x 14"

Sl T
ransportation
Al Institute

ASTM A36

Roadsid

e Safety and

Physical Security Division -
Proving Ground

Project #608431 Buried in Backslope
Sheet 5 of 6 Parts

Drawn by GES = Sc

ale 1:10

2018-02-02

T:\1-ProjectFiles\608431 - Buried in Backslope\Drafting, 608431\608431 Drawing



Isometric View

= Texas AGM
W Transportation
Al nstitute

Roadside Safety and
Physical Security Division -
Proving Ground

Project #608431 Buried in Backslope 2018-02-02

Drawn by GES  Scale 1:150

Sheet 6 of 6 Isometric View

T:\1-ProjectFiles\608431 - Buried in Backslope\Drafting, 608431\608431 Drawing





